¢ IBPS/ BANK 2023
PUZZLE & SEATING
ARRANGEMENT 44

Wotat,
(BASIC TO HIGH ) Saugy

SRALE Mo B D\ N BY KULDEEP MAHENDRAS




IBPS / BANK / LIC / SBI at 9:00 AM

RRBs — CRP RRB-XI1I {Ofhce Assistants) and CRP RRB-XI1 {OM{Ticers)

Office Assistants and Officer Scale 1 :

05.08.2023, (06.08.2023, 12.08.2023, 13.08.2023 and
19.08.2023.
Single Examination Officers Scale 11 & 111 : 10.09.2023

—

Main Examination Officer Scale I : 10.09.2023

Office Assistants : 16.09.2023

PSBs — CRP CLERK-XIIL, CRP PO/MT-XIII & CRP SPL-XIII

-~

I_—"Clerks |_Prabationary Officers ecialist Officers
Preliminary 26.08.2023 23.09.2023 30.12.2023
Examination 27.08.2023 30.09.2023 31.12.2023
02.09.2023 01.10.2023
Main 07.10.2023 05.11.2023 28.01.2024
Examination




Tanisha p 5 hours ago
Vishid Giipta 2 hours ago

= Thank you sir 4.
8-P Homework
7-W 8p
6-T g ‘;“*’
5-U.. 5 4
Read more 4 q
37T
I:IE 1 gﬂ Reply 2 s
1r
Riya Mandaokar 1 hour ago Show less
Thank you sir for the session ans is pwtuqrsx 0L GO Reply
15 GF Reply ~ (=0 - 1 reply
Aalap 2 hours ago \/6 Sima Sharma 6 hours ago
Nice class = Thank You Sir . a Floor Person
8 P

| 7 W
HW ANSWER: & -
8P 5 L
7W 4 Q
6T 3 R
o Ei | [



-
U..

Read more

I:IE gﬂ Reply

uskan Rai 12 hours ago
ANSWER=
P

W
T.

Read more

I:Ii_.l‘ gﬂ Reply

PWTUQRSX

@ Surbhi Sinha 6 hours ago

/ﬂmewmk question answer
5 GF  Reply

‘ wm:aurya 7 hours ago

Abhishek Singh 13 hours ago

8P
7 W
6T
o> U

Read more

EIE gﬂ Reply

- Niharika Jha 16 hours ago

Homework answer
PWTUQRSX

[ﬁ gﬂ Reply

Moumita Gorain 16 hours ago

8P
W
6T
V..



Elﬁ gﬂ Reply

itika Gupta 19 hours ago

Homework
Top to bottom
PWTUQRSX

Elﬁ gﬂ Reply

Sima Sharma 19 hours ago
Floor Person
|:I-

a8

i Vv

(8] 1.
Read more

Elﬁ gﬂ Reply

- ‘“":-‘ = 1 reply

Usha Singh 19 hours ago
Hw ans- PWTUQRSX

Dﬁ gﬂ Reply

rsh sharma 18 hours ago
Today's homework answer is PWTUQRSX thank you sir amazing sessions

A



IBPS / BANK / LIC / SBI at 9:00 AM

E.1ght people I.’, Q, R,S, T, U W and.X 1.1ve 1n an 15 =Rh P.Q.R.S.T.U, W 3 X U 3TS
eight story building, but not necessarily in the R TG § 2. SR S et B 3

%0 U 2| gad el gieer Fraegr 1 @ 3K

and the floor above 1t numbered as 2 and so on. s o
velthu 36k ST hl HiSTeT shl G&AT 2 3 THT g AT
The topmost floor is numbered 8. W lives

same order. The lowermost floor 1s numbered 1

(@ (@ o

Y| o8 Fu 6ot FT T8 2 W, P h dd
o Sk I W1 21 P Ueh 99 HE&AT ITcA] HiSTA

U LT & T lehd EGR 1 =reft HieTer ux A2t

second or fourth. Only three floors are there 3 p aik 0 ¥ oo et o it 8 R ST
between P and Q. Only two people live between ST I AT EI Y U, S F IR

AT W Ear 21 T 3R Q o st s tga &

equal numbers of floors between the floors on 39 R R TP S T @3 ¥ X S Faa ¥
which T and Q live and between the floors on NN ,
3tk = war 2

immediately below P’s floor. P lives on an even-

numbered floor but not on the floor numbered

R and T. U lives on a floor above S. There are

which P and T live. X lives immediately below

S’s floor.



Eight people P, Q, R, S, T, U, W and X live in an /
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Type of Puzzle :-

= (Pa)

* Box based puzzles

* Floor/lift based puzzles

* Day/ Month/ Year based puzzles

* Age based puzzles

®* Puzzles based on categorization.

®* Puzzles based on comparison. (Based on height, color, marks, ages and Seating

arrangement etc)

®* Puzzles based on Blood Relation.

* Designation based (salary, experience etc)




Type of Sitting Arragement

® Circular Arrangement

— 5

® Linear Arrangement

®* Triangular Arrangement

®* Square Base

* Rectangle Base

® Uncertain person Base

* Double circle oxr Double SquaM
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Here some Conjunction is also used instead of name of candidate. In that case:

(&
I@D/BUT Ls used then subject of the previous sentence (name of
first candidate) will be used.

Mg ‘3T / SiTeh’ FAT SUTRT FohaT SATAT & A7 T JATRT (STLW SFHIEAR ahi




If WHO/ WHOM / WHOSE / WHICH is used then object of the previous
sentence (name of second candidate) will be used.

Ate T/ TSrerent / TEehT ST ST Rt SITaT 2 af fuselt arerr (g8 STHiger <t
ATH) ok T T STt foRar STe
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Important points to Start the
Puzzle / Seating arrangement

* Gap e
* Negative —

* Double / Triple —
* Immediate —

* Only -
* Row end —
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There are two square field in different size that STET-STETT TR W 2V 7T AF Bl 8 | BET
the larger one is surrounding the smaller field. & =IRY AR A I8 A7 A TRT T2 | 72
Four gates are there for each field in the IR B [ E D @aﬁ;%'\'{wgr{%l qh
middle side .Eight persons A BCDEFGH <S~FABCDEFGH Wﬁ?‘iﬂ"@?ﬂ%
are standing at the different gate but not ATRT SHT hA U M9k A&l 8| 98 <k S
necessary in the same order. The person who a%w@ﬁé%gq%éﬁ?ﬁwé@‘{%% 3
are on the side of the larger park facing centre \‘:ﬁ‘aqﬁﬁgﬁ%qﬁ;ﬁéﬁ‘gq%am?ﬁmé@
and the person who are sitting at the smaller % IO ok oTidiie 8T T ATk T80 U&7
park facing outside such that inner side person a;raqﬁsqsﬁ-a'@{aqﬁﬁiﬁ AR é@r!%% | B
outer side person are facing to each other 3D é;aﬁaasﬁaqﬁﬁ‘@a%l B,C <hT 3R
person. The one person standing between B @ W@T 2 | A, C o dchTeA 218 AR 2l G, D Rt
and D. C faces B. A is to the immediate right of fAereaR USRI T B G T D ARTHN F A
C . G is not the immediate neighbour of D. G 3TR W T 21 H 3R F & i1 Uk Ak

faces neither D nor F. one person standing EIE;T%I E ohg ehi ST S @I E |
between H and F. E is facing the centre
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There are two square field in different size that
the larger one is surrounding the smaller field.
Four gates are there for each field in the
middle side .Eight persons ABCDEFGH
are standing at the different gate but not
necessary in the same order. The person who
are on the side of the larger park facing centre
and the person who are sitting at the smaller
park facing outside such that inner side person
outer side person are facing to each other
person. The one person standing between B
and D. C faces B. A is to the immediate right of
C . G is not the immediate neighbour of D. E

faces neither D nor F. one person standing

between H and F. E is facing the centre

at 9:00 AM
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In a Certain code DECISION is written as 66 ,than find the

code for DECODING ? (6"’37/@” t W‘*%"") X3
U fATRTd I3 & DECISION FTH13 66 fa@T ITAT R aY
DECODING 3T S FT 91T ?
— O
YECTSTON DE COPFN
- ¢ 2 s ualt?
(g9 199 1511 an
) (]

(a)51 aogg (17

(5) None of these
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Eight persons A, B, C, D, E, F, G and H are sitting in a row but not necessarily in the
same order. Four of them are facing towards north while four of them are facing
towards south. No two persons sit adjacent to each other according to the English
alphabet i.e. LBE)es not sit adjacent to A and C). C sits third to the left of A. Only

two persons sit between C and F. A does not sit at the end of the row. E sits 4th to the
right of B. H sits third to the right of D and faces south. G and H face same
direction. Immediate neighbours of H face same direction. F faces north direction.

IS ARE A, B, C, D, E, F, G 31T H Ueh Uitk H 3 § Afehd St g1 foh sei s A &f| ST §
=T T T It 2h! ST 8 STelfoh =X ol H@ SI&T0T ! SR 8| TSI JUHTCT oh STTHR 13 i
s37fth Ueh GO oh STTH T8l i3 & U (B, A 3R C o TH~ 781 931 €)1 C, A % ¢ H &
T W d3T Bl C 3 F o S shelod 31 Afh 9 ol A Uh oh AT H AT 93T 2RI E, BR ™ §
=Y T SIS 81 H, D o SR H T8 T W 3T & 31 3hT 7 3eq01 3t SR &1 G ST H
T 7 GHT [Q2T1 3T SR 81 H o Herean ISifedi s 9@ G fo sl 3 2| F 1 49 3t
fesm it A 2
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Eight persons A, B, C, D, E, F, G and H are sitting in a row but not necessarily in the
same order. Four of them are facing towards north while four of them are facing
towards south. No two persons sit adjacent to each other according to the English
alphabet i.e. (B does not sit adjacent to A and C). C sits third to the left of A. Only
two persons sit between C and F. A does not sit at the end of the row. E sits 4th to the
right of B. H sits third to the right of D and faces south. G and H face same

direction. Immediate neighbours of H face same direction. F faces north directg)n.
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In a Certain code GATHER is written as 63, than find the

code for DESIGN ? @
U [ATRTd 15 A GATHER FTHIS 63 @t ITAT Y,

DESIGN &Y T 1S T gI3IT ?
el o TH e R s an
GATHE ¢ ¥
(2) 08 7 K \ [Eﬁii &
(3) 06 : C —+ ¢
(4) 09 & +J/ ° (1] \L

(5) Non@ét these [(372) R 12

o | T
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Eight members of a family are living 1n a house, in which two are married
couples. N 1s the father of D. E 1s married to N. G and D are siblings. C 1s
married to G. N has no son. K 1s the father of E. Q 1s the only son of C. A 1s
the brother-in-law of N.

Who among the following 1s the son-in-law of N?

Ueh B | Ueh YA o 313 UeH & & &, SaH ¢ foarted siig 21 N, D &l Ut &
E s forTe N | §31 €| G 3R D Wiz-a64 8| C, G ¥ foranied g1 N =l &g T el
21 K, E 3T T4aT 21 Q, C 3T 3ohaiidl 97 &1 A, N T SIe-34-a1 ol

feferRad o @ 1 N T gMTE 27

1. K 2.C 3.Q 4.G 5.None ofthese
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Eight members of a family are living 1n a house, in which two are married
couples. N 1s the father of D. E 1s married to N. G and D are siblings. C 1s.
married to G. N has no son. K 1s the father of E. Q 1s the only son of C. A 1s

the brother-in-law of N.
Uls HORne=

Who among the following is the son-in-law of N?

1.K @ 3.0 4.G 5.None of these %

- w
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In a Certain code TEACHER is written as 196 ,than find
the code for RECHARD ? (o 1etten PV add )
U fATRTd P15 & TEACHER FTHIZ(196 for@r g at
RECHARD T 1S T gI31T ? (14

_ | = EN
(1) 49 EACHEK (° c! ’0"9%
(2) 64 Qo 51 3% s g | \FHEDE ‘)’

|

(3) 81 L] ] =7

00 VA q:
(5) None of these u = 196 \
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Eight persons i.e. S, T, U, V, W, X, Y and Z are sitting in a circular table but not
necessarily in same order. Some of them are facing towards inside and some are

facing towards outside. No three adjacent persons are facing in same direction.T

sits 3rd to the left of the person who faces U. There are two persons sit between S

and V. Y sits opposite to Z. Z sits 2nd to the right of T. X is neither an immediate
neighbour of Z nor of S. Immediate neighbours of X face opposite direction as X
faces. Both W and Z faces in same direction. U faces Inside.

IS ARE AU S, T, U, V, W, X, Y 3TR Z T JATehR Al T oS & cifch STel el foh gelt
ShH H Bl ITH © e o1 HW 3G ! AN 2 I FH h1 T SIEL h1 SN 7| 13 i HATE
Tk G a1 3hT SR 3@ & &l T, U ol R IH@ Ak o a1 § TTEL T W3 21 S
3TV o HeF &1 ek S 81 Y, Z o Toodial Si37 €1 Z, T o &1 8 g8l ¥ T si3T €| X T4l Z
T ST & S T e TSiE 81 X o HehedH TSITHal il H@ [owRid [G21 § & Fifeh X ol
T Tl fawm & ] W R Z 31 o1 7@ 99T TS 5 51 U 1 9@ el AR 2
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Eight persons i.e. S, T, U, V, W, X, Y and Z are sitting in a circular table but not
necessarily in same order. Some of them are facing towards inside and some are
facing towards outside. No three adjacent persons are facing in same direction.T

sits 3rd to the left of the person who faces U. There are two persons sit between S
and V. Y sits opposite to Z. Z sits 2nd to the right of T. X is neither an immediate

neighbour of Z nor of S. Immediate neighbours of X face opposite direction as X

faces. Both W and I irection. U faces Inside.

(sn\/j
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In a Certain code SATELLITE is written as 37, than find
the code for LAUNCHING ? S
v AT FIS A SATELLITE FTHRIE 37 @R,
LAUNCHING Y ST 13 &1 11T ? T = L
: e ROTSHIZ

(1)20 SATE LL I Tk

14 11| 0 S (R K A ’?"?\ l:l:': @
(3) 16 T T

(4) 19 L/'\U(\/CHI‘NO@
(5) None of these Lo g r R AT

L J
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Nine persons are living in a building on 9
different floors, in such a way ground
floor is numbered as 1 and top floor is
numbered as 9. E lives on an odd number
floor above the floor number 5. There are
two persons live between E and G. B lives
on odd number floor but not immediate
above and immediate below G. There are
as many persons live between G and F as
live between G and K. F lives below G. H
live on ground floor. There is one person
lives between C and E. D does not live on
an even number floor. A lives on even
numbered floor but above on 2nd floor. C

lives below E.

At S <k Ueh SHIA <hl AT [T HiRTEN U 39
TR (&l & ok STAeT chl TEAT 1 37X I wivte
<h1 HTAT 9 8| E, BT WA 5 % U Ush
oo s At AT W EAT R E ARG
e Y A<k Bd 3l B fiew s afia w
AT E AfhT G & 3k WX 3R 3 A= T2}
wAT 21 G IR F o 9e7 ot wean § safh
@A T Ia-1 # I § =R G R K 6 wed
@ 2| F, G % =l dT g1 H 9ot WEAT 2| C
3R E o U chaol Ueh A<k {&aT gl D a0
HEHT STeAt HiTer UX T T 21 A el Hister
U TR U G GE&AT ATt Hivter W E@aT 2l C,
E o =< ®war 2|
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Nine persons are living in a building on 9 different floors, in such

a way ground floor is numbered as 1 and top floor is numbered

as 9. E lives on an odd number floor above

the floor number 5. There are two

persons live between E and G. B lives on
odd number floor but not immediate
above and immediate below G. There
are as many persons live between G and
F as live between G and K. F lives below

G. H live on ground floor. There is one

person lives between C and E. D does

=)

not live on an even number floor. A lives

at 9:00 AM

on even numbered floor but above on

2nd floor. C lives below E.

lale X
ol ALK |
v I (ST
4!4\(14
SH-C11D
i, T
o8
\ F A
NG



In a Certain code MASTER is written as ADBFHGBBI ,than

find the code for QOPY ?
v A9 d 18 A MASTER &1 18 ADBFHGBBI fardT

AT § AY COPY T HIS FIT G ?
_ ( O FY
(1) ADAAAAB (V‘ pS T ER L v s
2) ADABAAB 4 L
Y 9\68721 BDHQQPVK
(4) ADAAABB 1 o H G BBE 8D ne

,(/S*Kﬁﬁne of these
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Eight boxes G, H, F, E, D, C, B and A are
arrange in top to bottom. Each box have
different colour Red, Yellow, Green, Pink,
Violet, White, Black and Blue, but not
necessary in the same order. Only one box
kept between G and F. Both Violet and Yellow
box kept below to C. Only two box kept
between E and Black. The colour of box B is
not Black. The colour of box G is Green and
the colour of box D is Pink. Only four box
kept between G and H. The colour of box F is
Blue. As many boxes between H and B as
between H and D. B kept at one of the position
above to D. A kept immediately below to
White. Only two box kept between Violet and
Yellow. G lives above H.

AR G, H, F, E,D, C, B3R AIWRY A=
AU 2| Tedeh ST H FTeRT-3TTT T AT,
e, 2, AT, AT, The, ShRTeT SR e E,
AR Ueh 21 ShH | HTA9A 21 21 G AR F o =
HACT Ueh AT TET T 2l ST TR oied TO1 ok ST
ST C oh A1 T U €| E 3T shTeA T o o=
ehdel &1 ST T T | fSeaT B Rt O shieAT A8t 2
fSeaT G T U1 0 ] SR feean D 1 {1 et 81 G
3R H o Sl shdlel IR Sadl W@ U 2 Tgsat F ot
T AT H 3R B R e 3aq g fesa 8 ™ H
3 D ok Sl g1 B i D o H0R fehl Teh T WX
TET 74T 21 A hl TS o gieh A<l T[T TT34T 21 ST
IARTA T F AT haA S T W MUE G, HF

3 LT 2
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at 9:00 AM

Eight boxes G, H, F, E, D, C, B and A are

arrange in top to bottom. Each box have

different colour Red, Yellow, Green, Pink,
Violet, White, Black and Blue, but not

necessary in the same order. Only one box kept

between G and F. Both Violet and Yellow box
kept below to C. Only two box kept between E

and Black. The colour of box B is not Black.

The colour of box G is Green and the colour of

box D is Pink. Only four box kept between G
and H. The colour of box F is Blue. As many

boxes between H and B as between H and D. B
kept at one of the position above to D. A kept
immediately below to White. Only two box

kept between Violet and Yellow. G lives above
H.
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Six persons (C, D, E, F, J, K) were born &8 &bl (C, D, E, F, J, K) &1 71 &l

on two different dates 5, 12 of three - ARI@T 5, 12 3l A STeT-STeA
different months viz. March, May and nﬁﬁﬁgm Tl Iﬂ?f, Ilé IR Tder) shad Uch
September. Only one person was born on =<k ST SIFH T shl Teh dRIG gAT AT J
one date of a month. J was born onthe 5 hTSH 3( ﬁﬁmﬁqﬁﬁﬁsaﬁ'@ﬁgm
th of a month having 30 days. Not more 9| F 37X E & i< &I ¥ 37{Ieh AR T STH

than two persons were born between F - 7€l §317 91| C 1 SI+H EH-H&AT ATcAl TG !
and E. C was born on an even-numbered =~ g3T T, AfhT K & gicl 16l J AR C H &=
date but immediately after K. Only two kol af I <h ﬁﬂTf{;’Q | D & 579 E ¥ U8
persons were born between J and C. D AT Tl K o 5771 F § 9 <ifoh D o §1¢ gl
was born before E. K was born before F - g3 9T | F % &1 T ° FH [ A AT STH

but not after D. At least two people were g7 —
born after F
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Six persons (C, D, E, F, J, K) were born
on two different dates 5, 12 of three
different months viz. March, May and
September. Only one person was born on
one date of a month. J was born on the 5
th of a month having 30 days. Not more
than two persons were born between F
and E. C was born on an even-numbered
date but immediately after K. Only two
persons were born between J and C. D
was born on one of the months before E.
K was born before F but not after D. At

least two people were born after F

at 9:00 AM
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